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QUESTION 1

A customer calls complaining that their CDDVD drive is no longer accessible on their virtual server. Afer investgatng,
you notce their virtual server is confgured for VMware Fault Tolerance enabled. Which conditon would cause this
situaton to occur? 

A. The secondary node has Connect at power on disabled. 

B. The secondary node has Use a physical drive selected. 

C. The source ISO is not on shared storage. 

D. The auto detect opton is not selected. 

Correct Answer: C 

 

QUESTION 2

VMware vCenter Server provides which three functons? (Choose three.) 

A. mult-pathing 

B. cloning of virtual machines 

C. VMware vMoton 

D. template creaton 

E. Actve Directory LDAP services 

Correct Answer: BCD 

 

QUESTION 3

You would like to upgrade Update Manager and keep your current database. What will allow you to meet this
requirement? 

A. Upgrade the Update Manager plug-in prior to upgrading the Update Manager Server. 

B. During the upgrade process, a backup of the Update Manager database will be taken automatcally. 

C. Within the Update Manager plug-in, backup the existng Update Manager database. 

D. During the upgrade process, make a backup of the existng Update Manager database. 

Correct Answer: D 

 

QUESTION 4
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You power on a Vblock System 320 and look at the Maps tab of an ESXi server in vCenter\\'s Hosts And 

Clusters view and see an ESXi server with a red "x" over it. 

What is causing the ESX server problem? 

A. The server has crashed. 

B. The server is an unsuitable candidate for migraton. 

C. The data store is out of space. 

D. The server is rebootng. 

Correct Answer: B 

 

QUESTION 5

Your client wants space required for the virtual disk to be allocated when the virtual disk is created. Also, any data
remaining on the physical device should not be erased during creaton, but be zeroed out on demand, at a later tme, on
the frst write from the virtual machine. Which storage provision type would you use to meet the client\\'s requirements? 

A. thick LUN provisioning, eager zeroing 

B. thin LUN provisioning, eager zeroing 

C. thin LUN provisioning, lazy zeroing 

D. thick LUN provisioning, lazy zeroing 

Correct Answer: D 
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